INICIACION A LOS CAMBIOS DE POSICION

EJERCICIO 1-1: (FaM, DoM, SolM, ReM / SibM, MibM / LaM)
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29 EJERCICIO 2-2: (SolM, ReM, LaM / DoM, FaM, SibM / MibM)
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47 EJERCICIO 1-2: (FaM, DoM, SolM, ReM, LaM, MiM / SibM / MibM)
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EJERCCIO 3-3: (DoM, SolM, ReM / FaM, SibM,MibM / LaM)
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EJERCICIO 1-3: (DoM, SolM, ReM, LaM / FaM / SibM, MibM.)
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EJERCICIO 2-3: (SolM, ReM; LaM / DoM / FaM, SibM, MibM)
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EJERCICIO 2-1: (SolM, ReM / DoM, FaM, SibM, MibM / LaM)
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EJERCICIO 3-2: (SibM, FaM, DoM, SolM, ReM / LaM / MibM)

EJERCICIO 3-1: (desde MibM hasta ReM / LaM)
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EJERCICIO 4-4: (SibM, FaM, DoM, SolM / ReM, LaM / MibM)
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EJERCICIO 3-4: (desde MibM hasta SolM / ReM / LaM)
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EJERCICIO 2-4: (SolM / MibM, SibM, FaM, DoM / ReM, LaM)
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EJERCICIO 1-4: (FaM, DoM, SolM / ReM, LaM / SibM, MibM)
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EJERCICIO 4-1: (SibM, FaM, DoM, SolM, ReM / LaM / MibM)
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EJERCICIO 4-2: (desde SibM hasta LaM / MibM)
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EJERCICIO 4-3: (DoM, SolM, ReM, LaM / FaM, SibM / MibM)
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